>, P=PP,P,=0.3x0.2x0=0

01" 12

3.
B2 (a) P{Xo0=0.X;=0.X=0}=poPoPro=1-(1-a)- (1 —ax) = (1 —x)?

(b) P = poPooPoo+ poPorPio = (1 — a)> + o = 2a? — 20t + |
—1 _

2o\ o082
(o) BERSEEREE P= | 2 2, N
v2 o v2 0 1-2« v o o_y2
2 2 = 2 2
Z 2\ 1 o N
ps) — | 2 2 3 3
= = ~ -~ _
2 2] \o (-2ap) (£ -2
1+(1-2a)° 1-(1-2a)’
_ 2 2
| 1—(1—2a) 1+(12a)
2 2
: 1+(1-2a)  1+(1-2a)’
P{Xﬁ :O‘XU :O} =Po- +H 3 %) — e 3 %)
4,
BE .
Py ta iy =i
G- L j=i—1(i=1,2,---,N)
Pij = < N.
p- X j=i+1(i=0.1,--- N—1)
0 Bt
B RIEE A
(gN PN 0 0 0 0 )
g qIN—1)+p p(N—1) 0 0 0
0 2q gIN=2)+2p --- 0 0 0
po ] . . . .
N
0 0 0 -+ 2q+p(N-=2) 2p 0
0 0 0 g(N—1) g+p(N—1) p

\ 0 0 0 0 gN PN )



6. 1% w AREM k HATEZIBERREREISYRIRER

(1) A AU, =1U, =0

4 (
lpy = %(Hl—|—£f3) H[):%
2
iy = %(ug—i—ug—l—u?} up =3
iy = %(H(}—i—tg + ug) Uy = %
| _ 1
uz = z(uy +uz + g+ us) Uz = 5
. 1 2
o\ ta = 33 g +ig 4=3
§ u 3 (U3 +ug +u7) = qu 3
s = %(H_q + g + g ) lis = %
_ 1 _ 1
e = 5 (ug+us) U = 5
uy =1 7 = |
\“8:0 ng:U

(2) VN A ZI A & Ly 5 B4

FHORT AR &L Up = Us = Us =1/2, DL

U, :%(uo+u3+1) = U, :%(u6+u3+1)
1 1

uzzg(u0+u3+0) = uszg(u6+u3+0)
1 1

U, ZE(U1+U4) Ug :E(uz"'us)

=U,=U,=U, =1/2, u,=u,=u,=2/3, u,=U,=U,=1/3
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.opll) (2)
ﬁ . fé)[] = Foo = Ofé[)

Fn>2

=30, f)

(n) _
1:oo -

/Po P1
Po Pl
Po Pl

1
2

1
2

b3|=

Nk O O

n—2
0 0
1 0
1 1
2 2
)
= 2n
J
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Xut1 .28 n+1 RIT3EALTN

}LIE . X.'H—l — *
0 VB8 n+1 RITEREM
S AX ) B M.C.
0o 1 2 3
0 /q p 0 0O
1 0O p 0
p_ a0

21 g 0 0 p

T=min{n:X,=0X;#0(s=12,--- \n—1)}

PT=k=p'qg k=12,

]
ET = Z pk_lqk
k=1

—+oa
- PET =Y Prak
k=1

. (1=p)ET =qET =q+pg+p*q+ - = 1

1—p

S ET = —

P RESHGE AR IEH IR ) (A& p 55 q T 0 KIIHHIL
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(2) A FT 2 5 IRAEE, P RasE i, OB 73 A1 5T A2 o0 A (1/3

1/3). =MLz 5+

1/3



(3)AI 2y IRBE ! S SR AR B BR 73 A 5 PR 73 A A5 SR AH )
34 ERTA]

| —
o
2] =

P=40-4) & H0-%)

] —
o
| —

RN (12 00 1/2)

TN TEZE R A7 AL C P2 i, A B PR

(4) AT L) IEE, ARSI R 3, EEDT.
PROAN/3 1/3 1/3)

FERR PR oA A AEAE, E NN TE]F-25) AT DUER = 2%
W= N

17.

B2 i8 n Nz M.C. RS, n = (7. my. T2)

T=0
2 g 5 3
DA S
\J’IP:H
SHNZ M.C. R —_WJE.JEJ_
i W
L ERSTR |5 4 2
3 3
4 14




18.

m RERY M.C. PERSEIEAFRTS E’]SIZi’ﬂI:WJ
- —EPEEEARIRER = 2P < (F x 2+ 11 +1p) = 1327(R)

_ Nl n_ ( 1)”I % 7-N % A—(N-i)At
- .ﬂ, Z”(n_l)l A" *e }

_ Nl n -n —let* ( 1)n| * it
- A Z|'(n—|)| }

N! |l < n! * [ 1\N-i % pidt
e {Zi'm—i)! D e}

“ nI(N —n)! dl
— C’r\}e—Nﬁt (e/lt _1)n _ Clze(n—N)/lt (1_e—lt)n (13 n< N)

27.
X AR AL R AT

(P(X(t+h)= X (t) =—1| X (t) =n) = 4 h+o(h)
P(X (t+h)— X (£)=0| X (t) =n) =1— A h+o(h)
1 P(X(t+h)=X(t)=1] X (t)=n) =0
A, =An




